QO #HEWK 11 FE#HRE2 B B( )

TNENEEDFELREU,

1 HXFEEEKR (R5&F) % 6 aZREMLUSR (R5%F) %
3(x—3y)2—12(x—3y)+9 2ax—bx—6ay+ 3by
2 BANBAIFER (R54) *x* 7 UHEER  (R5E) %
(a=2b)2—(a—1)—(2b—1)2 (2x+3y)2 = 3(x—3y)(x+3y) — 4y?
3 BRAESEFR (R58H) %% 8 PAEZIER (R4F) **xxk
3x2+y2+2/3xy +74/3x+ 7y — 18 (x2+2022)2 - 4092529x2

(7=12L,83521 =17
4 S.U—LEKR (R5E) *x% 9 BAFFESK (R4E) *h*
3a(a—2b)—(a—2b)—(6b+2) (a+1)(a—1)(b+2)(b—2)+4(ab—1)
5 TANIZERFSR (R6%) * 10 ERHEYEREESR  (R6E) Akk
16a% —25b% +9¢? — 24ac x3—xy2+2xy—x2+y2—x—2y+1
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